
QUIZ

1. According to the video, when Alan Turing was at
school, he ...
a) knew more about math than his teachers.
b) was not recognized as a genius.
c) solved advanced problems using calculus.

2. Which one of these did Turing invent in the
1930s?
a) the modern computer
b) artificial intelligence
c) the idea of programming

3. What does the presenter say about Turing's
work during the Second World War?
a) It was top-secret.
b) It saved lives.
c) It was not appreciated.

4. What happened to Turing in 1952?
a) He went to prison.
b) He was robbed.
c) He became very ill.

5. Turing's suicide is said to be linked to ...
a) the medical treatment he received.
b) the shame he felt because he was gay.
c) the departure of his boyfriend.

6. How did Turing die?
a) He injected himself with poison.
b) He put cyanide in some fruit.
c) He took an overdose of sleeping pills.
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